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=. (15%) Short Answer Question-Explain why you agree or disagree.
(i). If a firm faces a demand with an elasticity higher than 1, then he can increase his

profit by cutting the price.
(i) A risk-averse consumer prefers a sure payoff x to a lottery with an expected

payoff equal to x.
(iii) If a monopolist has to charge a price lower than its domestic price in order for

successfully entering a foreign market, then it should never do so even if it can price

discriminate between the two markets (domestic and foreign markets).
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™ . (35%) Consider two manufacturers distribute products through their own exclusive
retail stores. There are two segments of consumers, each of which has a size equal to
1. Consumers in segment 1 are familiar with manufacturer i’s product and obtain gross
utility r for sure from consuming the product; however, from consuming the
unfamiliar brand (i.e., product j), they obtain gross utility r+f with probability q and
r-f with probability 1-q, where q <1/2, £>0, and 1, j=1,2 and i#j. Consumers know
their exact utility attached to the unfamiliar brand only after inspecting the physical
product on the selling spot by incurring a transportation cost k to its exclusive store.
When a consumer visits the store of the unfamiliar brand and finds out a bad fit (i.e.,
with utility equal to r-f) with the unfamiliar brand, he has three options: switching to
another exclusive store to buy the familiar brand by incurring a switching cost s;
buying the unfamiliar brand with a bad fit; buying nothing. Assume that s <k.
Suppose that the prices of the two brands are the same, denoted by p, which is less
than r-k. Consumers maximize their expected utility and make their brand choices
(and hence their store choices) before shopping.

(1) What would be the optimal subsequent shopping behavior when
consumers decide to visit the exclusive store of the unfamiliar brand (i.e.,
search) and find out a bad fit?

(11) Under what conditions (expressed in terms of the relation among
parameters) will consumers decide to buy their familiar brand (i.e., no

search) by going to the exclusive store of their familiar brand?

Now suppose that both manufacturers expand to the Internet channel in addition to the
physical retail channel. If consumers purchase products on the Net, they can save the
transportation cost k. Whenever consumers find out a bad fit in their searching
process, they can choose to go home and make orders for the familiar brand on the
Net. Suppose that the prices of the two brands are the same and less than or equal to r.
(111)  What would be the optimal subsequent shopping behavior when
consumers decide to search and find out a bad fit after visiting the
exclusive store of the unfamiliar brand?
(1v)  Under what conditions will consumers decide to buy their familiar brand
(1.e., no search) through the Internet channel?
(v)  Compare the results in (ii) and in (iv) and provide intuitions.

(vi)  (Give at least two managerial implications from this simple example.
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